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5a+3b—2b—3a

3y? + 7xy — 4y? + 2xy

2a + 3b + (5a — 7b)

6x — 5y + (3y — 2x)

7x — (3x — 2y)

(8a—3b) — (7a —b)
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3(5a — 2b)

—4(3x — 5y)

(6a — 18D +42) X (—)

(16a — 48b) =+ 8

(14x — 21y + 42z) ~ (=7)

(6a2—-12ab-+14b2)+-%;



WOFEZ LI &,

4a X 8b

(=7x) x (—2y)

%n X (—35m)

(~a) x (~b)

—16xy +~ 4y

21ab + (~=b)

(1) 2x+y=-6
X+y=-2

(2) 2x + 5y = =3
x+2y=-1
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(1) {

3x+y=-11
—4x +3y=6

2x —5y =4

(2)
x+3y=-9

(3) {x+4y =-3

() {

4x —5y =9

4x —y=1
x+2y =16
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%x—2y+%x+3y

(3ab — 7b) + (=5ab — 2b)

(5x +3y) — (Bx + %y)

7x —4y — (5x — 2y — 4)

5x — 4y — {8x — (6x — ¥)}

(7m—9n) + (4m+n) — (5m — 4n)
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x—3y+4(x+2y)

3(x+y) —2(x—y)

7(3x —2y) —2(2x +y)

6(3x +4y) —8(y — 2x)

5q — 2b 4+ 3220

2m+4n _ 3m+7n
3 5
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(=3a)*

4a x (—2a)?

16a® + (—4a?)

() x 7

5a? x (—2b) + 2ab

—32x%y3 + (—4x) + 2y?
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(1) 5x+ 3y =2
3x —2y =24

2) {Zx— 7y =31
5x +4y =13

(3) {3x—2y=x—5y+27
6x —3y = —x+ 2y —45

10 womEsr Hrt s S0,

(1) x—y=3
2x +3(x—y) =11

(20 {0.1x—0.3y =04
4x — 15y =10

4x —3y =15
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(1) (0.8x —0.4) + (0.9 —x) U) 20x—3y) +4Bx+y—2)
3 _ 2
(2) %G‘F%b—(%a—b) (5) 5ab® x (—3ab)
2 3.1 ,

_ 4X—4y x—3y
X T+
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(1) —4(a—2b+3) (1) | 0.5x—0.7y = 4.9
2x —y =16

(2) (14a* + 42a) =+ (-7a)

1

3) (3x2%y? — 2xy?) ~ =

8 Gty = 2xy%) + gy 2 ( 01x+02y=—-04
3 3
TX—Ty—Zl

(4) 5x x 3xy + 2xy(2 — 3x)

5] yBy—-1+2y(5-y)

6) 2x(3x —4y) —4y(x +y)
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(1) 3x —2y=—2x+y+ 14
03x+24=024x+y)

3) S5x+4y=x+y+1=1






